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Section 6.1 - Sum and Difference Formulas

Note: sin(A+ B) = sin(A) +sin(B)
cos(A+ B) = cos(A) + cos(B)

Sum and Difference Formulas for Sine, Cosine and Tangent

sin(A+ B) =sin AcosB +sinBcos A
%’% sin(A—B) =sin Acos B —sin Bcos A
"TQF%&’T cos(A+ B) =cos Acos B —sin Asin B

cos(A—B) =cos AcosB +sin Asin B

tan(A+ B) = tan A+tan B
1-tan Atan B
tan(A— B) = tan A—tan B

1+tan Atan B
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To be continued on Wednesday, 04/04

Example 1: Simplify each:
a. cos(x+60°) = — We!' I ume_ cos(A—'f‘B) — cosh osR —SthhAsIaE
A B

= Cosx. Cos (0" — sin X %info®

- CQSX;-J_ — Sinx. \(E _ ng)(_ﬁéfn.(

b. sin(x+%j—sin(x.%j — U}J& Whe_ srq(AJrB) =siA A cos S + e siaB

l

N I e t ‘[‘r
5 AT\ — A T osx sinl
[""‘/@Jaf/*@‘*““‘z ) E X Cosy — o ‘v]

N - Ar
—  coSX 9“‘15 & s sATT = RZtesxsinl

&

:/ZC"”"/_\";Q :L\(?—/C,asx ‘




Example 2: Given that tan(x) =5, evaluate tan(x+37”).
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Example 4: Find the exact value of each. (Hint: use sum/difference formulas)

a. sin15° 30° | 45 (o
I L'df’_/ o
. o i Here@nte = 15
4in (45 —'3D ) —H

I

Sin 45° 06 30° 9545 Sin 30"

W
G % 4. & _e _ Y-\
2 2 2 2 &4 & ‘s
20" 45 ° 60
b. 005(7—”) — think T _ 193" il A L
12 12 4110430 6 4 2
) R Lshek
(ps [T, T $ LR T
(5 %) — e 34T
I
s T (oI — ¢iaT g8, T
S X
U
wC i _e = _ X v @ w-\Z
2 2 2~ 2 4 ¥y 4



b (0 E)

'bw@ t h{%

( _‘%hﬂﬁgﬁ. {hnpg>

VE%_

co 9o 2o

LN o 20

3 2 2
Ly o _m

- 75 = 3o + 48
3 3

-5
3

=G e
I’“,Def'}hn')‘ ’

--\(3  3t\E)

V2 12 4
-3

125 5D |go
i ER0y i
L ¢
AL e~ lom
’ ¢ L A n
3+3
=3 V3
=-\3 .
X
FolL

L
~ v+ |B) 4 4oE

= — (v3)©

63 + 12

° X




Example 5: Suppose that sina = g and cos g = % where O<a < f < % Find each of

these:
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